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Trade Diversion and 
Loss: A simple numerical 
example

Craig Parsons
YNU-Economics
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A simple example (from K&O)

 Assume we have three countries:
 France
 England (UK)
 America (US)

 They each have different costs for producing 
wheat:
 France: $6/bushel (=about 35 liters)
 England: $8/bushel
 America: $4/bushel
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Let’s consider two cases: first, Case I

 Initially suppose England imposes a 
$5/bushel tariff in imports from France and 
America
 Thus, US imports costs $4+$5=$9
 Imports from France would cost $6+$5=$11
 Domestic sales in England would be $8
 Thus, originally England would import NO 

wheat, and make its own
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Case I continued

 Now, suppose that England and France form 
a customs union

 Now imported wheat from France will be 
$6+0=$6

 This is less than England ($8) and less than 
America’s wheat (still $4+$5=$9) because 
America is not in the union

 Thus, England will stop production and import 
from France
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Case I continued

 As England imports from France, does 
England gain? Yes.

 Now, England can export $6 dollars worth of 
goods to France (not wheat; perhaps beer), 
and still get one bushel of wheat: a savings of 
$2 for the economy of England.

 This case is the Trade Creating Case.
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Case II

 Now suppose England has a $3 tariff, instead 
of $5, and no Customs Union

 US imported wheat ($4+$3=$7)
 French wheat ($6+$3=$9)
 English wheat still costs $8
 Here, initially, England will import from US
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Case II continued

 Now suppose England and France form a 
Customs Union

 Now: US (still $7); French wheat ($6); UK 
($8)

 UK will stop importing from the US and start 
importing from France ($6<$7).

 This is still good for UK, right? WRONG.
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Case II: Trade Diversion, UK loses

 UK pays France $6 for wheat. This is 
lower/cheaper than US($4+$3=7).

 However,  who collected the $3 tariff revenue 
before the Customs Union with France?

 The UK government! So, although the UK 
was paying $7 for wheat before, the $3 stays 
in the UK. 

 Thus, when UK and France form a Union, the 
UK overall actually loses, net $2 ($4-$6=-$2).
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Case I: Trade Creation
Case II: Trade Diversion
 Thus, in one possible scenario the UK gains by 

forming a union (Case I).
 In another case, the UK has a net welfare loss (Case 

II).
 We can see two things in this simple example:

 The initial level of the tariff makes a difference.
 It also matters whether or not the country signs an 

agreement with the low cost (US) or high cost (France) 
country.

 This, signing with a higher cost country, in general, is a 
“bad” Customs Union/PTA.
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Food for Thought

 US and Japan are major trade partners
 Tariffs between them are very low (average 

less than 5% for manufactured, non-ag 
goods)

 Would a US-Japan FTA be trade creating or 
trade diverting?
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Figure 2.1A (from BKP)
Consumer Surplus in Country A before Union of A&B.
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Figure 2.1A (from BKP)
Tariff Revenue in Country A before Union of A&B.

BB

C

PB

P
C

+ t

t+

MA

1
3

42

M MA FTA



Price 価格

Quantity 数量O

M A

P

P

E

E

c

Figure 2.1A (from BKP)
Consumer Surplus in Country A after Union of A&B.
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Figure 2.1A (from BKP)
Tariff Loss in Country A after Union of A&B.
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Figure 2.1A (from BKP)
Net Gains in Country A after Union of A&B.
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Figure 2.1B (from BKP)
Consumer Surplus in Country A before Union of A&B.
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Figure 2.1B (from BKP)
Tariff Revenue in Country A before Union of A&B.
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Figure 2.1B (from BKP)
Consumer Surplus in Country A after Union of A&B.
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Figure 2.1B (from BKP)
Tariff Revenue Loss in Country A after Union of A&B.
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Figure 2.1B (from BKP)
Net Gain or Loss in Country A after Union of A&B.
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Gains and Losses of a Customs 

Union

from Figure 2.2 in Bhagwati, Krishna and Panagariya 
(1999)
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1

Gains and Losses of a Customs 

Union

from Figure 2.3 in Bhagwati, Krishna and Panagariya 
(1999)
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